KOJ1-BO BYKB B CTPOKE



OyHKUMSA len

name = "Max"

print (len (name))
3

name = "Alexander"

print (len (name))

9



BbIBOO OOHOW BYKBbI



name =
print
I1
print
T
print

A

"Tlemg"
(name [0 ])

(name[Z2])

(name |[-1])

4 -3 -2
IMNemTst
O 1 2 3



CPE3bI



Kyccx BOJNIBIIOTO TeKCcTa

0 2 345 0606 7 8 9 1011121314151617181920

text = "Kycok ©OoJjsipumoro TekcTa'"
print (text[6:14]) Gonbmoro

print (name[:5]) Kycok

print (name[15:]) TeKcCTa

Kycok OOJIbIIOTO TeKCTa

print (namel:])



JIMIUHUE CUMBOIJbI NO
BOKAM



login = "adminl23 "
print (login)

adminl?2?3
print (login == "adminl23")
F'alse

print (repr(login))
'adminl23



PelueHne

login = "adminl23 "
print (repr (login))
'adminl23

print (repr(login.strip()))
'adminl2z23'



text = "—--some text---"
print (text)

——some text——-

print (text.strip(‘'-"))
some text

print (text.rstrip(‘'-"))
——some text

print (text.lstrip(‘'-"))

some text——-—



[MPOBEPKA BBEOEHHbIX
OAHHDbIX



print

("BBenomuTe umcijio")

S = 1input ()

print

(1nt(S) + 3)

Traceback (most recent call last):
File "C:/PycharmProjects/to int test.py", line 4
print int(S) + 3

ValueError:

invalid literal for int() with base 10:

\ml
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PelueHne

a = "]123"
print (a.i1sdigit())

True

b = "df"
print (b.isdigit())

F'alse



print ("BeenmuTe umciio")
S = input ()

i1f S.1sdigit () :
print (int(S) + 3)
else:
print ("Oumbxa')
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# —-*- coding: utf-8 —-*-
print ("Beegure uwmcio")
S = input ()
if not False
print ("OmmbOxa')
exit ()

S = 1nt(S)
print (S + 3)

BreouTe UYMCIIO
5
8

BreouTe UYMCIIO
m
OumdKa

15



MPOBEPKA OTPULUATEJIbHbIX
YUCE



a = \\_33//
(a.1isdigit ())

print
False
print
True
print
33
print

True

(a[0]

(all:

(all:

1)

] .isdigit ())



a = input ()

if a[0] == Y-’ and a[l:].1sdigit():
print( int(a) + 3)
elif True
print( int(a) + 3)
else:
print ("Owmmbxa ")
-2 5

1 3
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POPMATUPOBAHUE CTPOK



format
base = ‘llpuser, {}!’

print (base.format (‘'Baca’))

[lpueBeT, Bacsga!
a = 3
print ‘a = {}!’ .format (a)

a = 3!



format

‘{y, {}, {} .format(‘'a’, ‘b’", ‘c’)

a, b, cC
{0}, {1}, {2}’ .format(‘'a’,
a, b, c
{2}y, {1}, {0} .format(‘'a’,
c, b, a

{0} {1}{0}’ .format (‘abra’,
abracadabra

\bI, \CI)

\bI, \CI)

‘cad’)



MATEMATUYECKHUE
OMNEPATOPbLI N CTPOKW



strl = "textl"”
str’ "text2"
print (strl + str2)

textltext?

print (strl * 3)
textltextltextl



BbiBO TUINA OAHHbIX



|
|_\
N

<tvype
<tvype
<tvype
<tvype

'int'>
'"float'>
'str'>
'bool ">

25



UTOI'N



 [1ng nogcyeTa konn4yecTsa cumMBoroB: len()
 [1n4 BbIBOgA CTPOKM C KaBbl4KaMu: repr()

« ObpalyeHmne no nuaekcy: S[0] nnm S[-1]

» Cpesbl: S[5:10] nnu S[:5] nnun S[15:] unn S|}



S.isdigit() - aBnAtOTCSA N cCMMBONbI Lndpamu

S.strip() - 06pesatb BCce npoberibHble CUMBOSIbI
crieea v cripaBa

S.strip('-') - obpesaTb cMmBoOnNbI -’ cnesa v cnpasa
S.Istrip('-") - o6pes3aTb CMMBOIbI - TOMNBKO Crnesa
S.rstrip('-") - o6pe3aTb CMMBONbI - TOMBKO Cnpasa
"1} {}.format(data, data2) - dopmaTnpoBaHme CTpoK
S * N - noBTOpEeHmne cTpokn N pas

S1+ S2 - KOHKaTteHauus (Cknenka) CTpok

type() - TMN JaHHbIX



